

April 11, 2022

Independence Police Department 223 North Memorial Drive Independence Mo. 64050

Project: Parking lot cameras & ALPR

Statement of Work

Electronic Technology, Inc. would provide the following quote to install cameras at the pole locations as noted. Each location is listed below with a drawing that will show projected camera coverage. The quote is based on that the City will provide 120VAC power at each of the noted pole locations for camera use. Additionally, the City will provide all needed IP addresses and a Firewall configuration.

Please note that due to the ongoing shortage some electronic equipment has a LONG lead time and some may up to 6 months.

Pole #1

Qty	Description	Cost	Ext Cost
1	Axis Q6135-LE camera AXC-01959-004	\$2,500.00	\$2,500.00
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
1	Photocell power tap	\$125.00	\$125.00
1	Radwin SU radio	\$415.00	\$415.00
1	Equipment Enclosure	\$450.00	\$450.00
2	Genetec Camera license	\$225.00	\$450.00
5	Bucket truck time for installation	\$250.00	\$1,250.00
2	Shop time for building enclosure	\$105.00	\$210.00
	Location Total	\$6,845.00	

Pole #2

Qty	Description	Cost	Ext Cost
1	Axis Q6135-LE camera AXC-01959-004	\$2,500.00	\$2,500.00
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
1	Photocell power tap	\$125.00	\$125.00
1	Radwin SU radio	\$415.00	\$415.00
1	Equipment Enclosure	\$450.00	\$450.00
2	Genetec Camera license	\$225.00	\$450.00
5	Bucket truck time for installation	\$250.00	\$1,250.00
2	Shop time for building enclosure	\$105.00	\$210.00
	Location Total	\$6,845.00	

Pole #3

Qty	Description	Cost	Ext Cost
1	Axis Q6135-LE camera AXC-01959-004	\$2,500.00	\$2,500.00
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
1	Photocell power tap	\$125.00	\$375.00
2	Genetec Camera license	\$225.00	\$675.00
	Radwin PTP radio		
1		\$1,300.00	\$1,300.00
1	Radwin PTMP radio	\$2,150.00	\$2,150.00
1	Transition 582 switch and power supply	\$1,300.00	\$1,300.00
1	Equipment Enclosure	\$450.00	\$450.00
6.5	Bucket truck time	\$250.00	\$1,625.00
4	ETI shop time	\$105.00	\$420.00
	Location Total	\$12,240.00	
Pole #4			
Qty	Description	Cost	Ext Cost
1	<u> </u>	\$2,500.00	\$2,500.00
	Axis Q6135-LE camera AXC-01959-004		
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
2	Genetec SharpV ALPR Camera	\$4,000.00	\$8,000.00
1	Transition Networks 582 Switch & Power Supply	\$1,300.00	\$1,300.00
1	Photocell power tap	\$125.00	\$125.00
1	Radwin SU radio	\$415.00	\$415.00
1	Equipment Enclosure	\$450.00	\$450.00
3	Genetec Camera license	\$225.00	\$450.00
9	Bucket truck time for installation	\$250.00	\$1,250.00
3	Shop time for building enclosure	\$105.00	\$210.00
		4	+
	Location Total	\$16,145.00	
Pole #5			
04-	D '.'	G . 1	E d C d
Qty	Description	Cost	Ext Cost
1	Axis Q6135-LE camera AXC-01959-004	\$2,500.00	\$2,500.00
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
1	Photocell power tap	\$125.00	\$125.00
1	Radwin SU radio	\$125.00 \$415.00	
		\$125.00	\$125.00
1	Radwin SU radio	\$125.00 \$415.00	\$125.00 \$415.00
1 1	Radwin SU radio Equipment Enclosure	\$125.00 \$415.00 \$450.00	\$125.00 \$415.00 \$450.00
1 1 2	Radwin SU radio Equipment Enclosure Genetec Camera license	\$125.00 \$415.00 \$450.00 \$225.00	\$125.00 \$415.00 \$450.00 \$450.00
1 1 2 5	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00
1 1 2 5	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00
1 1 2 5	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00
1 1 2 5 2 Pole #6	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00
1 1 2 5 2 Pole #6	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00
1 1 2 5 2 Pole #6 Qty 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 Cost \$2,500.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00
1 1 2 5 2 5 2 Pole #6	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 Cost \$2,500.00 \$1,360.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00
1 1 2 5 2 Pole #6 Qty 1 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001 Axis T91L61 bracket	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 Cost \$2,500.00 \$1,360.00 \$85.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00 \$85.00
1 1 2 5 2 Pole #6 Qty 1 1 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001 Axis T91L61 bracket Photocell power tap	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 \$2,500.00 \$1,360.00 \$85.00 \$125.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00 \$85.00 \$125.00
1 1 2 5 2 Pole #6 Qty 1 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001 Axis T91L61 bracket Photocell power tap Radwin SU radio	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 \$1,360.00 \$85.00 \$125.00 \$415.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00 \$85.00 \$125.00 \$415.00
1 1 2 5 2 Pole #6 Qty 1 1 1 1 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001 Axis T91L61 bracket Photocell power tap Radwin SU radio Equipment Enclosure	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 \$1,360.00 \$1,360.00 \$125.00 \$415.00 \$450.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00 \$85.00 \$125.00 \$415.00 \$450.00
1 1 2 5 2 Pole #6 Qty 1 1 1 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001 Axis T91L61 bracket Photocell power tap Radwin SU radio Equipment Enclosure Genetec Camera license	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 \$1,360.00 \$85.00 \$125.00 \$415.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00 \$85.00 \$125.00 \$415.00
1 1 2 5 2 Pole #6 Qty 1 1 1 1 1	Radwin SU radio Equipment Enclosure Genetec Camera license Bucket truck time for installation Shop time for building enclosure Location Total Description Axis Q6135-LE camera AXC-01959-004 Axis Q6100-E camera AXC-01711-001 Axis T91L61 bracket Photocell power tap Radwin SU radio Equipment Enclosure	\$125.00 \$415.00 \$450.00 \$225.00 \$250.00 \$105.00 \$6,845.00 \$1,360.00 \$1,360.00 \$125.00 \$415.00 \$450.00	\$125.00 \$415.00 \$450.00 \$450.00 \$1,250.00 \$210.00 Ext Cost \$2,500.00 \$1,360.00 \$85.00 \$125.00 \$415.00 \$450.00

2	Shop time for building enclosure	\$105.00	\$210.00
	Location Total	\$6,845.00	
	2000000	φο,ο .ε.οο	
Pole #7			
Qty	Description	Cost	Ext Cost
1	Axis Q6135-LE camera AXC-01959-004	\$2,500.00	\$2,500.00
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
1	Photocell power tap	\$125.00	\$125.00
1	Radwin SU radio	\$415.00	\$415.00
1	Equipment Enclosure	\$450.00	\$450.00
2	Genetec Camera license Bucket truck time for installation	\$225.00	\$450.00
5 2	Shop time for building enclosure	\$250.00 \$105.00	\$1,250.00 \$210.00
	Location Total	\$6,845.00	
Pole #8			
Qty	Description	Cost	Ext Cost
1	Axis Q6135-LE camera AXC-01959-004	\$2,500.00	\$2,500.00
1	Axis Q6100-E camera AXC-01711-001	\$1,360.00	\$1,360.00
1	Axis T91L61 bracket	\$85.00	\$85.00
1	Photocell power tap	\$125.00	\$125.00
1	Radwin SU radio	\$415.00	\$415.00
1	Equipment Enclosure	\$450.00	\$450.00
2	Genetec Camera license	\$225.00	\$450.00
5 2	Bucket truck time for installation	\$250.00	\$1,250.00
2	Shop time for building enclosure	\$105.00	\$210.00
	Location Total	\$6,845.00	
City Hall F	Roof		
Qty	Description	Cost	Ext Cost
1	Non-penetrating roof mount	\$450.00	\$450.00
1	Radwin PTP radio	\$1,300.00	\$1,300.00
6	Man-hours work at City Hall	\$105.00	\$630.00
	Location Total	\$2,380.00	
3 Trails Br	ewery		
Qty	Description	Cost	Ext Cost
1	Radwin PTMP radio	\$2,150.00	\$2,150.00
4	Man-hours work at City Hall	\$105.00	\$420.00
	Location Total	\$2,570.00	
	Project Total	\$65,105.00	

